Solve 3x%— 12x— 15 =0 by completing the square.
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Solve 4n% — 24n— 56 = 8§ by completing the square
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Solve 2; —% = “0 by completing the square.
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Solve 41“ 4+ 2t = 20 by completing the square
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Solve 3x? 4 2x =4 by completing the square.
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The solutions to a quadratic equation of the form
ax’+bx+c=0,a=0are given by the formula:
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Solve 2x2+9x—5=0 by using the Quadratic Formula.
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Solve 4z &3 2z — 6 = 0 by using the Quad: .-11|F'--|a:uu-:_
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Solve x2— 6x+5=0 by using the Quadratic Formula.
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Solve 2p~ + 8p + 5 = 0 by using the Quadratic Formula.
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Solve 2x2+10x+11=0 by using the Quadratic Formula.

Solve 3;)2 + 2p + 9 = 0 by using the Quadratic Formula.
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Solve x(x +6) + 4 = 0 by using the Quadratic Formula.
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Solve x(x + 2) — 5 = 0 by using the Quadratic Formula
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Solv{%u%}é)by using the Quadratic Formula.

—q 16 -
Vs kY =2 I F: C24)

I Fu-2=0 Ty T
-y tdf‘l)"*"ifb)(-l-) L
203) ~qzafJio _ Y
&

Solve -l’-rf': |f = [ by using the Quadratic Formula.«
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Solve 4x% — 20x = =25 by using the Quadratic Formula.
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The_'[iiscrimi"ate Determine the number of solutions to each quadratic equation:
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Identify the most appropriate method to use to solve
each quadratic equation.
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